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Quadratic

Formula

Used to solve a
quadratic equation.

Discriminant

—dac

Used to find the number
of solutions to a quadratic
equation.

4ac <0,

[

the equation has

2 solutions.

the equation has
1 solution,

the equation has
0 solutions.
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Discriminant.

Number of roots

1real root
b-4ac =0 b —dac =
Touches x axis once (-6F —am©)=
36-36=0
y=-x"—2x+2
2real roots.
b —dac > 0 b —4ac =
Touches x axis twice | (-2 —4(-1)2)=
4+8=12
y=x'=2x+2
No real roots
b'—dac <0 b —dac =
Doesn't touch 2 -4

x axis — no x-intercepts

4-8=

And one more thing
that's interesting:

If b —4ac =
a perfect square
(0,1,4,9,25,..)

1 or 2 real rational
(“easy”) roots

(We'll see later that
these quadratics can be
factored)

1+24=25





